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Please check that this question paper contains 15 printed pages.

Code number given on the right hand side of the question paper should be
written on the title page of the answer-book by the candidate.

Please check that this question paper contains 27 questions.
Please write down the Serial Number of the question before
attempting it.

15 minute time has been allotted to read this question paper. The question
paper will be distributed at 10.15 a.m. From 10.15 a.m. to 10.30 a.m., the
students will read the question paper only and will not write any answer
on the answer-book during this period.
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(i)
(ii)
(iii)
(iv)
(v)
(vi)
(vii)

(viii)

39 Y9797 ! qid YT, 3, &, &, T K T F Fier 7= 8 | 3779H @Ht 9rn & e
% I forgd & /

Tyt go7 s7Hard & |

YT &, &, 7 3R T & Jo9] A SaRe® 597 I T 8

YT 37 & Y97 &A1 1 3K 2 Uh-Uh 3 & Yo7 & | 59% IH Ueh Ioq 37Yal Th
FIFTH 378/

YT § & 97 G&IT 3 @ 5 G1-51 37hl & I97 3 | 599 I T 30 Feg] JIF H o7
g/

YT G & J97 G&IT 6 & 15 T7-17 371 @& J97 & | 379 I TTHT 50 Jegl Jeas 7
g7 8 |

YT T & Y97 G&I7 16 G 21 Gie-9ia 371 & 97 & | 599 FK FIY9T 70 Fec] G
H378 1

YT T & J97 G&IT 22 & 27 JIITIcHE FHIT T SERT 21-31 3H & J97 & | 59
Giered 3o a7 8 1

General Instructions :

(1)
(i)
(ii1)
(iv)
(v)
(vi)
(vii)
(viii)

The question paper comprises five Sections, A, B, C, D and E. You are to
attempt All the sections.
All questions are compulsory.
Internal choice is given in Sections B, C, D and E.
Questions number 1 and 2 in Section A are one-mark questions. They are to be
answered in one word or in one sentence.
Questions number 3 to 5 in Section B are two-marks questions. These are to be
answered in about 30 words each.
Questions number 6 to 15 in Section C are three-marks questions. These are to
be answered in about 50 words each.
Questions number 16 to 21 in Section D are five-marks questions. These are to
be answered in about 70 words each.
Questions number 22 to 27 in Section E are based on practical skills. Each
question is a two-marks question. These are to be answered in brief.

HOT A

SECTION A
gty Y gfdmar e 3R 35eRT S.1. 9 fafgu | 1

Define resistance. Give its S.I. unit.
W TRl @ a1 AW fafay e st O ge & dfemm (sAW) |
fopan SmaT ® 1

Name any two elements that are used in fabricating solar cells.
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SECTION B

3. YR o YUedd & 4w fafau 2

HAAAT
e SvadHTe 6t g fofaT ofR 38 TN €9 § =¥ea il | 2
State laws of reflection of light.
OR
Define absolute refractive index and express it mathematically.
4. Tt B g & IR SR R 8 W@ S | 2
Draw magnetic field lines around a bar magnet.
5. O BT § W& fREl WEdelt # W H N Yehigiadl (MoHTA) § s
Hh 5% AT WREm wHTe foeeH fiemen St 8 2 vt gt 6
YRl O 1T hifNT | 2

What happens when 5% alkaline potassium permanganate solution is
added drop by drop to warm propyl alcohol (propanol) taken in a test
tube ? Explain with the help of a chemical equation.

e
SECTION C

6. Shawm w8 ? SHaremi it oy fuftor s S @ fafem & @@w d qu
HIT | 3

What are fossils ? Describe briefly two methods of determining the age of
fossils.

7. A % [USH @ TERA 900 799 YT o fO&I90T 1 A1 HROT & ? T gE b
Uy Tk 919 3Iod! foufd § g @ 9dewq i & UsAl & fhHl B W)
feieha: Tfad Yoid YehIeT o WEH 99 o 99 Wl QU o ToC fohul 3@
Hifa | 3

arerat
TRTST ST TEhIO 3T & 2 38 TICEISAT 1 STANT Shieh SRS hifere Fh (i) F@ie
% T FF @AW R YA g g, a9 (i) Tes TR e ®&It Wdid g
g 3
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What is the cause of dispersion of white light through a glass prism ?
Draw a ray diagram to show the path of light when two identical glass
prisms are arranged together in inverted position with respect to each

other and a narrow beam of white light is allowed to fall obliquely on one
of the faces of the prisms.

OR

What is scattering of light ? Use this phenomenon to explain why (i) the
Sun appears reddish at sun-rise, and (ii) the clear sky appears blue.

8. (a) Timfafaa srfufsranett o fafim yori & arfiertor hifsre
(i)  AgNOs(aq) + NaCl(aq) —> AgCl(s) + NaNOs(aq)
(i)  CaO(s) + HoO(l) —— Ca(OH)y(aq)
(i) 2KClOs(s) —2— 2KCl(aq) + 304(g)
(iv) Zn+ CuSO4 —— ZnSOy4 + Cu
(b) Tr=fefgd s =t dqfora TS i & 9 § UG HINT

“afem @i, tgfutam gohe @ i ws Ueifem soss
R 9T Hothe AT 2 17

AT

J9 fope WEell § ol (1) A8 1 foetay oieht 390 IR STRIeEs i
T faema &, 9 S 198y 99aT B |

(a) 39 STFEY 1 FAT U1 21 8 ? @&TUq Afeh 1 9 foAfam |
(b) 39 ATk &1 Tgfcta TETTS Tiehtor fafean |

(c) affshan o 3 < Wil 1 gt sARy od 38 stfufsean i war =
Tl & |

(a)  Classify the following reactions into different types :
1) AgNOs(aq) + NaCl(aq) —— AgCl(s) + NaNOg(aq)
(i)  CaO(s) + HoO(l) —— Ca(OH)y(aq)
(i) 2KClOs(s) —2— 2KCl(aq) + 304(g)
(iv)  Zn+ CuSO4 —— ZnSOy + Cu

31/41 4
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(b) Translate the following statement into a balanced chemical

equation :

“Barium chloride reacts with aluminium sulphate to give

aluminium chloride and barium sulphate.”
OR

When potassium iodide solution is added to a solution of lead (II) nitrate
in a test tube, a precipitate is formed.

(a) What is the colour of this precipitate ? Name the compound
precipitated.

(b)  Write the balanced chemical equation for this reaction.

(c) List two types of reactions in which this reaction can be placed.

9. (a) Yeideh JarREl 6 FEih gwE T@ A A Tofh Sestasmarsi i
raftr qerg 1 srrawarehdn gt 7 | =i 2

(b)  3TIHEH FAT & ? AfG Torelt TTRT & Tq=reshi o1 qUf &9 & I L ez
ST, T 3ehT ST IO BT 2 379 3T o Tmed § gfse Shifvw | 3
AT

JIAVSA o IAW T W AH fhH TR It B ? 3Hh Wed hl 3g@
HRT | 3896 38 F U S TSR 2 2 AFEITW F TH B IWE
fafeT | 3

(a) Natural water bodies are not regularly cleaned whereas an
aquarium needs regular cleaning. Why ?

(b) What are decomposers ? What will be the consequence if the
decomposers are completely eradicated from an ecosystem ? Give
justification in support of your answer.

OR

How is ozone formed in the upper atmosphere ? State its importance.

What is responsible for its depletion ? Write one harmful effect of ozone

depletion.

31/a 5 P.T.0.
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10. -gfedt 1 wem 3 & foru eferen foreft vora urset o1 3um htd € |
(a) 39 UISEL I 919 R Tt g7 foafeaw |

(b) 3 YRS ! fhH YhR SR JTaT B 2

(c) 19 39 Yod IS i UHI o &1 AT M1 &, I Th Hak 3™ Yvg T
BIAT 3 | 39 Ui o o dgferd Temifes gefenn fafEu |

(d) 39 39d YIS I his Uk 3T 39 fafigu |

A white powder is used by doctors to support fractured bones.

(a)  Write the name and chemical formula of the powder.
(b)  How is this powder prepared ?

(c) When this white powder is mixed with water, a hard solid mass is

obtained. Write a balanced chemical equation for the change.

(d)  Give one more use of this white powder.

11. foggqueh qfs o aR sl I3 Fusel fohet Headrder @ waifva 8 | 1 g S
forelt yoa B graeh i
(a) FUsell o Ha geher M@ 2
(b) ~ FHUSHA! § ST ATAT SATC ?
(c) FPpusal o it feer @ smem 2
T JeuT <kl R Ffga gfse HIfT |

A coil of insulated copper wire is connected to a galvanometer. What
would happen if a strong bar magnet is

(a)  pushed into the coil ?
(b)  withdrawn from inside the coil ?
(c) held stationary inside the coil ?

Give justification for each observation.

12. (a) W4T IMER 91 ° F=faiad & s fafiaw
(i) R (A W)
(i)  AHR™ # HCI
i) T @
(iv) @& UH
31/4/1 6



i
b
=

(b)

(a)

(b)

13. (a)

(b)

(a)

(b)

fafafaa womsal @ g 1 T S fafge
G  ufem
(i)  TEUS 3

Write the function of the following in the human alimentary canal :
) Saliva

(ii))  HCl in stomach

(i11)  Bile juice

(iv)  Villi

Write one function each of the following enzymes :

(1) Pepsin

(i1) Lipase

wTed (i) B dfe  TE A, fe ofl, af B R daeeier Tew
! T R 7, dF 3Gh! aferR H V0T S I qiEdd Bid @ | SaTedl
SHIfT foh I8 UTgU STRI LU o Y fohH ThR IfhAT hial B IR T
sk fohe Wb T Bt ® |

39 g o1 A fafae et Feafafad o fean sman 2

() felt S o e § gty % o |

(i) ol R Sl H ifveRt fawrsm &1 g e & o | 3
Plants do not have any nervous system but yet, if we touch a
sensitive plant, some observable changes take place in its leaves.
Explain how could this plant respond to the external stimuli and
how it is communicated.

Name the hormone that needs to be administered to

1) increase the height of a dwarf plant.
(i)  cause rapid cell division in fruits and seeds.

14. 39 ffayar fpa wgq @ 2 91 =1 “S9 fafaygar & foau fafsme woa” w1 g

AT 8 ? SHIE o TolC STERT 31 hiehi i Fi I9ET | 3

What is biodiversity ? Why are forests considered as “biodiversity hot
spots” ? List two factors responsible for causing deforestation.

15. dfshrar Joft & ged SR o arqett & fasedur 6t fafy, afserar soft & aex
H e argatt o fseedu 61 fafy @ form yoer fira B 2 3o6 forw oft s wfsean
FI TR TR ST g ? 37 9Tq3T o RN sh AfshaT w1 9 fIRa | 3
How is the method of extraction of metals high up in the reactivity series
different from that for metals in the middle ? Why can the same process

not be applied for them ? Name the process used for the extraction of
these metals.

31/a
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SECTION D

16. (a) TEOHU IR AgHHw Afufhaet & =, g% & o gt
wefiertort R gEmEar 4, faved Sif |
(b) THIfhd NG o Y TEL o9 o UTeh [hAThed hl &Y H UM
i |

AT

gTg 3R 9Tl H o1 3= 7 ? Fohell a6 W ol ToreheTs o el &l g |
T <l AHTS Tk 1 489 § Ig@ HINTT | 9 IET Sl 3K T § GHT gl
8, O T 1 ITANT Sgd I FAT AG1 BT ? 3 THET H1 THEH 8 TR
ToRer ST B 2

(a)  Distinguish between esterification and saponification reactions

with the help of chemical equations for each.

(b)  With a labelled diagram describe in brief an activity to show the

formation of an ester.

OR

What is the difference between soaps and detergents ? State in brief the
cleansing action of soaps in removing an oily spot from a fabric. Why are
soaps not very effective when a fabric is washed in hard water ? How is
this problem resolved ?

17. IS SATR 3709 F1 & 50 cm § A g hT IEqeii 1 T8 TE T@ U |
(a) 39 AT % gfee W o1 W fafaw o 3@ g & o Gwrfad wron 6t
T S |
(b) 3T ThLUT | ¥ ol g o foTu foptur @ Eifam |

(c) 39 ¥ & GMYT & AU 3T g I fohU I 91 A8 1 THhR
faRgu 3t sEeht e uiteferd $ifse | 7= <fifSe f6 w99 =
ﬁwﬁlﬂﬂicmél

(d) ST TRl | gfed I o TG oh fOIQ AWIfha TR@ T |
131/4/1 8
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A person is unable to see objects distinctly placed within 50 cm from his
eyes.
(a) Name the defect of vision the person is suffering from and list its
two possible causes.
(b) Draw a ray diagram to show the defect in the above case.
(c) Mention the type of lens used by him for the correction of the

defect and calculate its power. Assume that the near point for the
normal eye is 25 cm.

(d) Draw a labelled diagram for the correction of the defect in the
above case.

18. (a) 3Afg foreht awa o1 Solaeiies fa=am a2, a1 SHehl TISTehdT fohT bR
frgif@ &t I & ? 39 a i GAISEhdl Hgiia HifSe e 9w
SHUTH 97 |

(b) = sygfies sTad arelt % $© aw@ T T E | 39 q@ T WA AT
shiseeh 1 faar e B
A(4), B(9), C(14), D(19), E(20)
() Sk fawITE o FemEdT § §d HiT 6 30 & fhe a9 &
STEId <hIT H Teh Seiereiq B |
(i) HH-9 q T T9H T () & ? AT W b THLT H BRI
B
(iii) IUYFT A<l H G AN A b {ohd T h! THATUh B 5t 7
IR A 2 5
(a) How is the valency of an element determined if its electronic

configuration is known ? Determine the valency of an element of
atomic no. 9.

(b)  Given below are some elements of the Modern Periodic Table.

Atomic numbers of the elements are given in parentheses :

A(4), B(9), C(14), D(19), E(20)

(1) With the help of the electronic configuration, find out which
one of the above elements will have one electron in its
outermost shell.

(ii1) Which two elements belong to the same group ? Give
reasons for your answer.

(iii)) Which one of the above elements belonging to the fourth
period has bigger atomic radius and why ?

31/a 9 P.T.0.
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(a)

(b)

(a)

(b)

(a)

(b)

31/411

fora wifea <t aftwmr dfSg | Sieear v & @ & ol @ @9 R
gy o1 1$ forgq @lRE g Toar @ | g 3 iy & wdi § wfed
% foru =iereh =geae i |

100 W; 220 V 3R 60 W; 220 V TJHdT o & ToEq S 919d § 220 V
% foagd 79 9 9Afd & | Sodl g 59 | off Tl 9 91 i |

HAAT

Toret s <Al "ERdT ¥ A9 I8 Ry forg yeRr femreitt fok v diee
forelt St @ 2ofishn o TafSra @ gfatieshi Ry, Ry 3R Rg % INUY &
Jcdeh YT 8 gHH 9 JdTed aldl @ 2

Fra feu e uftuy o1 3reeeE W, fEfaiaa 3 Hifse

i) 12 QUfgs & yaTEd 9 |
(i) Aq 3 A, % TSI # =R, AR 1S 8 |

24 Q
LS
T gV %129
T
S

Define electric power. An electrical device of resistance R is
connected across a source of voltage V and draws a current I.
Derive an expression for power in terms of current and resistance.

Two electric bulbs rated 100 W; 220 V and 60 W; 220 V are
connected in parallel to an electric mains of 220 V. Find the
current drawn by the bulbs from the mains.

OR
10
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(a) How will you infer with the help of an experiment that the same

current flows through every part of the circuit containing three
resistors Ry, Rg and Rg in series connected to a battery of V volts ?

(b)  Study the following circuit and find out :
) Current in 12 Q resistor.

(i1))  Difference in the readings of A; and Ay, if any.
24 Q

Cap 8

+
T gV glzg
T
&)

20. (a) IR JadA i aiam foafee | saeht @ fafet s = ST |
(b) S TR & UIEUl sl ITH o foTw 38 Taem =1 3w = foharm Sfram g 2
(c) HIfehd ARWI I TEEAT § eI H Gpod hl Ufsham i =

ili\an 5
sreraT
iy ford had 2 2 gweh! 9w fafia faftrer 6 g=ht s | it gt
A & IR G99 HRor faafEy | 5

(a)  Define vegetative propagation. List its two methods.
(b)  Why is this mode practised for growing some types of plants ?

(c) Explain the process of budding in Hydra with the help of labelled
diagrams.

OR

What is contraception ? List its four different methods. State four reasons
for adopting contraceptive methods.

31/a 11 P.T.O.
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21. (@) WA % H Y WA ¥ ¥ @R < 9 agen Hi g sEe S
ALY Hed 4 379 TA | fomam o | Hed o T g hd Udl Il
op o1 g} SFrEm ST BId 8 2

(b) AT I hl TEEAT § Y Ig Hd TAUG Ul fb d@d § fopelt
TSI T o fog[g 9 & A 94 g AR Aa-fuar § 9 feeht @t o,
FaTd o foret fomre formm o fotu, Sorerft =& amn < wehar 8 2

(a)  List two visible traits of garden pea that Mendel considered in his
experiments. How do Mendel’s experiments show that traits may
be dominant or recessive ?

(b)  With the help of a flow diagram, how would you establish that in
human beings the sex of a newborn is purely a matter of chance
and none of the parents may be considered responsible for a
particular sex of a newborn child ?

qma
SECTION E

22. hiE B JNIH FANEE USS H HifeIH Tcthe IS Haar & | 31 a1 uIssy
H fa™ W 98 B T IiEad I ST ? 30 IR hI gfee Hifw 31
=T hifoe for a7 aifed uftads fore TR UTeq T HehdT B |

HAAAT
(a) frAfaRed agsti # I AGRTIGA & ARE (Jgd) WA |
Wﬂﬁ%ﬁﬁ?:
I, T, Tl qen st
(b) HIR Fohe faeeH # dg 1 W e & 30 fie & wvemq stot
AIegs § getag fRT I el 31 J&vl i = 41T |

A student mixes sodium sulphate powder in barium chloride powder.
What change would the student observe on mixing the two powders ?
Justify your answer and explain how he can obtain the desired change.

OR

(a) Arrange the following metals in the increasing order of their
reactivities :

Copper, Zinc, Aluminium and Iron
(b) List two observations you would record in your notebook
30 minutes after adding iron filings to copper sulphate solution.

31/411 12
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23. I3 faoE X pH 9 W 3Weh! hI3 8¢ TR W TR0 T <41 g, Faih Hig 314
faeraq v’ pH v W 38T g TR 92 goeht el T1 a1 2 | 39 gl foerAt i
TR 1 7 2 X AR Y Tl o pH Faifa i | 2
A solution X’ gives orange colour when a drop of it falls on pH paper,
while another solution Y’ gives bluish colour when a drop of it falls on pH
paper. What is the nature of both the solutions ? Determine the pH of
solutions X’ and Y.

24. Ffaflaa forw sm@ 1 steged AN R 38 Eie ° 3 g i T @
FfeAt &1 = ST | forw AB i fRufa % dggEy s a9 wfdfers 6l
aredfaess feafa o T1ss i gurid o fow @ fopwor om@ e 3 Fieai =t
Tenfea HfT | 2

A
F, 2F,

oF; B F, O

AT

forelt B 1 forelt wia o 5w @ Tora areht fomor 1 9o omRfEd & 7 |
318 INUIH T i o folC 3Heh g Sl S aTell IR draenf-=i 6t gt
SHTST | 2
Study the following ray diagram and list two mistakes committed by the
student while tracing it. Rectify these mistakes by drawing the correct

ray diagram to show the real position and size of the image corresponding
to the position of the object AB.

A
F, 2F,

oF; B F, O

OR

A student has to trace the path of a ray of light through a glass prism.
List four precautions he should observe for better results.

31/a 13 P.T.O.
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25. foreft ufeioss o i W favarm &t w8 yarfgd faga g w fofa &
A HH o e feferfiad sia-e sgecen (viwe) @d 2 i = 2

+ —
+ + +
HHH= HHH= HHH=
A B C
Which one of the following is the correct set-up for studying the

dependence of the current on the potential difference across a resistor
and why ?

)=
R R
L o
valgina I e IS,
J N J R
%%HHJ éé—*HH"—(J e
A B C

26. ‘gl = A & foru et it <hi forgt o1 STeemft 1w dam s J=n Y
fafer o spHeR 9 = fafgu |

J R
=
D

J B
—HHH =
D

AT
“SIPa BId SIS e SEATIAEE BISd &, IH QUM hl JUHINGh el &
Fefea fffad ge & I T
() B9 VAR FATh ol dTIeg F1 T&d & ?
(i) YFEThR FoIh & i W B Waqell ¥ W AW et ggrd 1 am
3R 3ITh! YfirRT TAfau |
(Gii) T Ff 4 9t SR F= =g A @ 2
Write four sequential steps of the procedure of the experiment “Preparing
a temporary mount of a leaf peel to show stomata.”

OR
31/411 14
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27.

In the experimental set-up to show that “the germinating seeds give out
carbon dioxide”, answer the following questions :

) Why do we keep the conical flask airtight ?

(ii1) Name the substance kept in the small test tube inside the conical
flask. Write its role.

(iii)) Why does water rise in the delivery tube ?

37 2 Jeguni 1 G ST ek SMgR W I8 fshy ekt S wek fob @ it
TTss e | fogued awidl 8 |

List two observations on the basis of which it may be concluded that the
given slide shows binary fission in Amoeba.

31/a 15



